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Question: 1 
   
To ensure no information is lost in an MQ cluster, what is the recommended number of queue managers 
that should be specified as full repositories? 
 
A. One 
B. Two 
C. Equal to the number of partial repositories 
D. None 
 

Answer: B     
 

Question: 2 
   
An integration architect has the following requirements: 
- Enable applications and services to communicate reliably without calling each other directly 
- Introduce process independence into the application architecture 
- Improve fault tolerance and reliability throughout the system. 
Which modern integration pattern should the Architect choose? 
 
A. API integration 
B. Event driven publish/subscribe 
C. Application data integration 
D. High speed file transfers 
 

Answer: D     
 

Question: 3 
   
Which statement about the Container Storage Interface (CSI) drivers is true? 
 
A. They can be included as part of the container image for applications to access storage 
B. They are integrated into the core OpenShift deployment 
C. They are installed and configured in the host machines where the master nodes will run 
D. They are typically shipped as container images and have to be installed by a cluster administrator 
 

Answer: A     
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Question: 4 
   
Which two technologies can be used to extend the DataPower Gateway processing behavior? 
 
A. XSLT 
B. JavaScript 
C. Python 
D. C# 
E. Java 
 

Answer: C,D     
 

Question: 5 
 
Which statement regarding the IBM Entitled Registry key is true? 
 
A. It is used by the Asset Repository to synchronize with a remote Git repository 
B. It is configured in the Platform Navigator 
C. It is required to enable Cloud Pak for Integration capabilities 
D. It is used by the network-based installer 
 

Answer: C     
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